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7-1
7-1

CO H, CH, C,H, CH, H,S CO, N, 0,
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1kg
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kilkg  KJ/NmPD
7-2
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7-5
5 F100 CFM56 EX00
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m,/kg- st 51.5 95 50 103 48.8 76 50 ~ 100
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9 10 — i=15 — —
de /mm 214 136 110 130 94 L
G "15-35
Le /mm 720 358 300 187 185 F
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40 60 70 80 90
7-6 7
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0.076 ~0. 88 438 ~ 675 323~431 4.87~47.0
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8-1
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— ~- E/RT — ~- E/RT
K kik, =€ kik, =€
500 2x10°° 1 3x10° 18 1
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M +Cl + Cl——Cl, + M
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OmMmOooomOoOo

a1
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1 2 3 4 5 6
RP-1 RP-2 RP-3 RP-4 RP5 RP-6
GB438-77 | GB1788-79 | GB6537-86 | $/1009-80 | CPPCOO4-83
L 20 /g o3 0.775 0.775 | 0. 775 ~0.830 0.750 . 788 ~0.845 15 0.835
2.
/ 150 150 60
10% / 165 165 204 205
20% / — — —
50% / 195 195 232 195
90% / 230 230 —
98% / 250 250 280 280 288
0,
1% 2.0 2.0 2.0 3.0 1.5
3 ! 28 28 38 — 60 38
4. /mm?- st
20 1.25 1.25 1.25 1.0 8.5
- 40 8.0 8.0 -20 80| 6.0 - 20 30
5, /
- 60 - 50 - 47 - 40 - 46 - 46
0,
6. 1% 20 20 20 20 25 12
. -1
£ /9 100g 3.5 4.2 4.2 4.2 — —
8. /mg  KOH 1.0 1.0 1.0 1.0 0.015 1.0
100mL " ! mgKOH /g
0,
S 1% 0.2 0.2 0.2 0.25 0.30 —
0,
10. 1% 0. 005 0. 002 0. 001 0. 005 0. 001 0. 001
11. 100 2 50 1 1
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1 2 3 4 5 6
RP-1 RP-2 RP-3 RP-4 RP-5 RP-6
GB438-77 | GBL788-79 | GB6537-86 | Sy1009-80 | CPPCOO4-83

12. 50 / . . . B B

13. I kgt 42800 42800 42800 42675 42466 42716

14,

! fmm 2 2 2 19 19

2§mm 1% 3 3 3 - -

3 45 45 45 — _

15. /mg- 100mL"* 5 5 5 5 7 5

16. _ _

17. _ _

18.

1 IML 1 1 1 - -

2 / 1b 1b 1b 1b — —

3 85 _

19. Ing: kg ! _ _ 150 . . .

20./rrmHg _ _ 7 _ 76 —
/ — — 3 — 3 —

21. /mmHg _ _ N 150 . N

2. 1% 0.005 0.005 — — — —

2, 1% _ _ _ _ . _

24, I mg/L _ _ _ _ 1 —

25, 1%




T/K ia/kd kgt | H/KI kgt a=ii T/IK ia/kd kg''| H/KJ kgt a:ii
a a
273.16 273.2 413.6 1.515 750 767.6 1565. 0 2.039
280 280.1 426.8 24 760 778.5 1592. 9 46
288. 16 288.8 442. 6 33 770 789. 4 1621.0 54
290 290.2 446.3 38 780 800. 3 1649.3 61
298. 16 298. 4 462.2 49 790 811. 6 1677.9 68
300 300.2 465.6 51 800 822.2 1706.5 76
310 310.3 485.5 65 810 833.2 1735.2 83
320 320.3 505. 6 78 820 844. 2 1764.0 20
330 330.4 525.9 92 830 855. 2 1793.1 97
340 340.5 546. 4 1. 605 840 866. 2 1822.3 2.104
350 350.5 567. 2 18 850 877.3 1851. 7 1
360 360. 6 688. 2 31 860 888. 4 1881. 2 17
370 370.7 609. 7 1.645 870 899.5 1910.9 24
380 380.8 631. 1 57 880 910. 6 1940. 8 2.131
390 390.9 653. 1 71 890 921.8 1970.8 38
400 401. 4 675.0 83 900 933.0 2001. 1 45
410 411.1 697. 6 97 910 944, 2 2031. 4 52
420 421.3 720.3 1.710 920 955. 4 2062. 0 58
430 431.5 743.0 22 930 966. 6 2092.6 65
440 441.7 766. 2 35 940 977.9 2123.5 72
450 451.9 789.3 47 950 989. 1 2154.5 79
460 462.1 812.9 59 960 1000. 4 2185.5 85
470 472.3 836.5 71 970 1011. 7 2216.7 91
480 482.6 860. 2 82 980 1023.1 2248.0 o7
490 492.9 884.0 1.794 990 1034.5 2279.5 2.204
500 503. 2 908. 2 1.805 1000 1045.9 2311.2 10
510 513.5 932. 4 16 1010 1057.3 2342.7 2.216
520 523.8 956. 7 27 1020 1068. 7 2374.3 22
530 534, 1 91 4 38 1030 1080. 2 2406. 2 28
540 544.5 1006.3 48 1040 1091. 7 2438. 1 33
550 554, 9 1031. 2 58 1050 1103.2 2470.3 39
560 565. 3 1056. 3 69 1060 1114.7 2502. 4 45
570 575.7 1081. 6 79 1070 1126. 2 2534.6 50
580 586. 2 1107.0 89 1080 1137.8 2567. 0 56
590 596. 6 1132.5 98 1090 1149. 4 2599. 6 62
600 607. 1 1158. 4 1.908 1100 1161.0 2632.3 67
610 617.6 1184.2 17 1110 1172.7 2664. 9 72
620 628. 2 1210.3 1.927 1120 1184.3 2697. 6 78
630 638.8 1236.6 36 1130 1196.0 2730.5 83
640 649. 3 1263.2 45 1140 1207.7 2763.5 2.288
650 660. 0 1289.9 54 1150 1219. 4 2796. 7 93
660 670.6 1316.6 63 1160 1231.1 2830. 2 99
670 681. 3 1343.6 72 1170 1242.8 2863. 8 2.304
680 692. 0 1370.8 81 1180 1254.6 2897.5 10
690 702.7 1398.2 2 1190 1266.3 2931.4 15
700 713.4 1425.8 %8 1200 1278.1 2965. 5 20
710 724.2 1453.2 2.007 1210 1289.8 2999. 6 26
720 735.0 1480.8 15 1220 13015 3033.8 31
730 745.9 1503.7 23 1230 1313.2 3068. 2 36
740 756. 7 1536. 7 31 1240 1325.0 3102.8 42
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TIK k3 kgt | H/KI kgt a—ii TIK k3 kgt | H/KI kgt a—ii
a a

1250 1336.6 3137.5 a7 1900 2127.5 5568. 3 17
1260 1348. 4 3172.0 52 1910 2139.9 5608. 0 21
1270 1360. 2 3206. 8 2.357 1920 2152.3 5647. 8 2.624
1280 1372. 1 3241.6 62 1930 2164. 7 5687. 8 27
1290 1283.9 3276.8 68 1940 2177.2 5727.8 31
1300 1395. 8 3311.8 73 1950 2189. 7 5768.0 34
1310 1407. 7 3346.9 78 1960 2202. 1 5807. 8 37
1320 1419.6 3382. 1 82 1970 2214.6 5847.7 a1
1330 1431.6 3417.5 87 1980 2227.1 5887.7 a4
1340 1443.5 3453.0 92 1990 2239.6 5927. 8 47
1350 1455.5 3488. 7 97 2000 2252.1 5968. 1 50
1360 1467. 4 3524, 2 2. 402 2010 2264.6 6008. 1 53
1370 1479. 4 3560. 0 06 2020 2277.0 6048. 2 56
1380 1491. 3 3595. 9 11 2030 2289. 6 6088. 4 59
1390 1503. 3 3632.0 16 2040 2302. 1 6128.7 62
1400 1515. 3 3668. 1 2.421 2050 2314.5 6169. 2 2.665
1410 1527.3 3704. 2 25 2060 2327.1 6200. 2 68
1420 1539. 2 3740.5 30 2070 2339.6 6249. 3 71
1430 1551. 3 3777.0 35 2080 2352. 1 6289.5 74
1440 1563, 2 3813.5 40 2090 2364. 7 6329. 8 77
1450 1575.3 3850. 2 a4 2100 2377.3 6370. 2 80
1460 1587. 2 3886. 8 49 2110 2389. 7 6410. 4 82
1470 1599. 1 3923.5 53 2120 2402. 2 6450. 6 85
1480 1611.0 3960. 8 58 2130 2414. 7 6490. 9 88
1490 1623.0 3997.4 63 2140 2427.2 6531. 4 91
1500 1635.0 4034.5 68 2150 2439.7 6571. 9 94
1510 1647. 3 4071. 3 72 2160 2452.3 6612. 4 96
1520 1659. 5 4108. 2 76 2170 2464.9 6652. 9 99
1530 1671. 8 4145. 2 2.479 2180 2477. 4 6693. 6 2.702
1540 1684. 1 4182. 4 83 2190 2490. 9 6734.3 05
1550 1696. 5 4219.7 87 2200 2502. 6 6775. 1 07
1560 1708. 7 4256.9 91 2210 2515. 3 6816. 6 10
1570 1720.8 4204. 3 % 2220 2527.9 6858. 2 13
1580 1733.0 4331.8 2.500 2230 2540. 6 6899. 9 16
1590 1745. 2 4369. 4 04 2240 2553. 2 6941. 7 19
1600 1757.5 4407. 2 08 2250 2565. 9 6983. 6 22
1610 1769. 7 4444.9 12 2260 2578.6 7023.6 24
1620 1781.9 a482. 8 16 2270 2591. 3 7063. 7 26
1630 1794. 1 4520.7 20 2280 2604. 1 7103.8 28
1640 1806. 4 4558. 8 24 2290 2616.8 7144. 1 30
1650 1818.7 4597. 1 28 2300 2629.6 7184. 4 32
1660 1830.9 4635. 3 2.532 2310 2642.3 7225.5 2.734
1670 1843. 2 4673.7 36 2320 2655. 1 7266. 6 37
1680 1855. 4 4712.2 40 2330 2667. 8 7307.9 39
1690 1867. 7 4750.8 a4 2340 2680. 6 7349. 2 a2
1700 1880.0 4789.5 48 2350 2693. 4 7390.6 a4
1710 1892. 3 4827.8 51 2360 2706. 1 7431.9 46
1720 1904. 6 4866. 7 55 2370 2718.9 7473.1 48
1730 1916.9 4904. 9 59 2380 2731.6 7514.5 51
1740 1929. 3 4943.6 62 2390 2744. 4 7556. 0 53
1750 1941. 6 4982. 4 66 2400 2757.2 7597.5 56
1760 1953.9 5020. 9 70 2410 2769. 8 7638.8 58
1770 1966. 3 5059. 6 73 2420 2782. 4 7680. 2 60
1780 1978.6 5008. 4 77 2430 2795.0 7721.6 63
1790 1991.0 5137.2 2.580 2440 2807.6 7763. 1 2.765
1800 2003. 3 5176. 2 84 2450 2820. 2 7804.7 67
1810 2015. 7 5215. 1 87 2460 2832.9 7846.0 70
1820 2028. 1 5254. 1 91 2470 2845.6 7887. 4 72
1830 2040. 5 5203. 2 94 2480 2858. 2 7928.8 74
1840 2052.9 5332. 4 97 2490 2871.0 7979. 4 76
1850 2065. 3 5371. 7 2.601 2500 2883. 7 8012.0 78
1860 2077.7 5410. 8 04 2510 2896. 4 8053. 7 80
1870 2090. 1 5450. 0 07 2520 2900. 2 8095. 5 83
1880 2102.6 5489. 4 10 2530 2922.0 8137.3 85
1890 2116.0 5528. 8 14 2540 2034.7 8179. 3 87
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) H . H
T/K ia/kd kg ' | H/KI kgt a=4— TIK i,/kd kg ! | H/KJ kgt a=—
a a
2550 2947.5 8221.3 89 2750 3202. 4 9051. 7 26
2560 2960. 3 8262.9 91 2760 3215.5 9094.0 28
2570 2973.0 8304.5 2.793 2770 3228.6 9135.4 30
2580 2985. 8 8346. 2 95 2780 3241.7 9177.3 32
2590 2998.5 8388.0 97 2790 3254.8 9219.4 33
2600 3011.3 8429. 8 99 2800 3267.9 9262.0 34
2610 3024.1 8471. 1 2.801 2810 3280. 8 9303.5 36
2620 3037.0 8512.4 03 2820 3293.7 9345. 6 37
2630 3049. 8 8553. 8 05 2830 3306. 6 9387.7 2.839
2640 3062.7 8595. 3 06 2840 3319.5 9429. 9 41
2650 3075.5 8636. 8 08 2850 3332.5 9472.2 12
2660 3088. 3 8678. 1 10 2860 3345.3 9514. 3 44
2670 3101.1 8719.5 12 2870 3358. 2 9556. 5 46
2680 3113.9 8761.0 13 2880 33711 9598. 8 47
2690 3126.7 8803.0 15 2890 3384.0 9641. 2 49
2700 3139.6 8844.0 2.817 2900 3396.9 9683. 5 51
2710 3152.1 8885. 9 19 2910 3409. 8 9725.5 52
2720 3164.7 8926. 9 21 2920 3422.8 9767.6 54
2730 3176.8 8968. 9 23 2930 3435.7 9809. 7 55
2740 3189.8 9010. 0 25 2940 3448.7 9851. 9 57
2950 3461. 6 98%4. 1 58
1 e 1988
2 A M Médlor. Design of Modern Turbine Combustors. Academic Press Limited 1990
3 1995
4 1990
5 1989
6 1988
7 . 1988
s O 1987
9 1990
10 A H Lefebvre. Gas Turbine Combustion. Hemisphere Publishing Corporation 1983
11 1988
12 FA 1990
13 1993
14 1991
15 G C Oates 1992
16 JD WH DH 1992
17 1993
18 1997
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